AP Physics – Projo Quizo

1. [image: image1.wmf]sin20.0sin37.012.03

y

mm

vv

ss

q

===

o

A ball is kicked towards a fence from a point 32.0 m away.  The velocity of the ball as it leaves the kicker’s foot is 20.0 m/s at an angle of 37.0( with the horizontal.  The top of the fence is 2.50 m.  Air resistance is negligible.  Find:

(a) The time it takes for the ball to reach the plane of the fence.

(b) Will the ball hit the fence?  If so, how far from the top of the fence will it hit?  If not, how far above the fence will it pass?
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2. The mighty USS Herpes, a fine pocket battleship, fires off a round that travels a horizontal distance of 33.0 km.  The projectile has a time of flight of 1 min and 45 s.  Find the elevation angle for the gun.

[image: image6.wmf]60

1min45105

1min

s

ss

æö

+=

ç÷

èø



[image: image7.wmf]33000

314.3

105

x

xmm

v

tss

===



[image: image8.wmf]yo

vvat

=+




[image: image9.wmf]2

105

9.8514.5

2

y

msm

vat

s

s

æö

æö

=-=--=

ç÷

ç÷

èø

èø





[image: image10.wmf]o

514.5

tan58.6

314.3

y

x

m

v

s

m

v

s

qq

====





_1084945397.unknown

_1084945500.unknown

_1084945502.unknown

_1084945624.unknown

_1084945461.unknown

_1084945168.unknown

_1084945396.unknown

_1063508769.unknown

_1084945156.unknown

_1032028074.unknown

